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EXERCISE 7.1.1

1. (a)  (b)  (c)  (d)  (e)  (f)  (g) 

(h)  (i)  2. (a)  (b)  (c)   (d)  (e)  (f)  3. (a)  

(b)  (c)  (d) 9 (e)  (f)  (g)  (h)  (i)  4.  

5. (a)  (b)  (c)  (d)  (e)  (f)  6. (a)  (b)  (c)  
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(d)  (e)  (f)   7. (a)  (b) 1 (c)  (d)   (e)  (f) 

(g)  (h)  8. (a)  (b)  (c)  (d)  (e)  (f)  

EXERCISE 7.1.2

1. (a) 2 (b) –2 (c)  (d) 5 (e) 6 (f) –2.5 (g) 2 (h) 1.25 (i)  2. (a) –6 (b) –  (c) –3 (d) 1.5 (e) 0.25

(f) 0.25 (g)  (h)  (i) –1.25 

EXERCISE 7.1.3

1. (a) 3.5 (b) 3.5 (c) –3 (d) 1.5 (e) 3.5 (f) 1.5 (g) 1.8 (h)  (i) 0 2. (a) –0.75 (b) –1,4 (c) 0,1 

(d) 3,4 (e) –1,4 (f) 0,2  3. (a) –1,1,2 (b) –3,1,3,4 (c) , , 2 (d) –1,1,2 (e) 3,7, , 

EXERCISE 7.1.4
1. (a) i. 5.32 ii. 9.99 iii. 2.58 (b) i. 2.26 ii. 3.99 iii. 5.66 (c) i. 3.32 ii. –4.32 iii. –6.32  (d) i. –1.43

ii. 1.68 iii. –2.86  2. (a) 0 (b) 0.54 (c) –0.21 (d) –0.75, 0 (e) 1.13 (f) 0, 0.16 

EXERCISE 7.1.5

1. (a) 2 (b) –1 (c) 0.5 (d) 0.5  2. (a) 1 (b) 0.6 (c) 0  3. (a) 0 (b)  4. (a) –1,2 (b) –2,3 (c) –1 

(d) –6,1 (e) 0,1 (f) 1 5. (a) 1.3863 (b) 2.1972 (c) 3.2189 (d) Ø  6. (a) 0.4236 (b) 0.4055 

(c) 0.3054 (d) –0.4176  7. (a) 0 (b) –0.6733 (c) 0  9. 36 10.  

EXERCISE 7.2
1. (a) 1000 (b) 1516 (c) 2000 (d) 10 days 2. (a) 0.0013 (b) 2.061 kg (c) 231.56 yrs
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